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PE Hh [ VAR = o = [[EV YA =t &
=1 1 52.7 6,867,420 1 43.8 4,827,236,565
Tl b 2 11.7 1,524,692 2 14.3 1,571,954,737
T 20 e 3 7.6 995,796 3 7.7 844,114,152
SR 4 4.8 620,925 5 4.0 439,794,455
FINR 5 4.3 556,601 4 6.4 700,643,761
JEE IR IR 6 1.6 203,883 7 2.0 223,378,350
F IR UL 7 1.6 202,559 8 1.9 207,524,231
HOAR 8 1.4 185,184 6 2.6 287,388,914
KBRIF 9 1.4 177,940 12 1.4 155,089,670
Jis 155 Bk 10 1.2 161,296 16 0.9 103,648,323
fi] L1 U 11 1.1 147,159 10 1.6 174,452,111
IEEpns 12 1.1 143,624 18 0.7 76,649,451
=& 13 1.1 140,165 13 1.2 134,926,075
e i) Bk 14 1.0 134,399 15 1.1 117,506,467
ORI 15 0.8 104,601 17 0.7 80,908,338
AT 16 0.8 101,727 19 0.7 71,919,814
S IR 17 0.8 98,732 20 0.6 67,503,919
AeifiE 18 0.7 94,362 14 1.1 118,585,822
IR 19 0.7 94,067 11 1.5 162,533,665
Fnak L i 20 0.7 85,386 21 0.6 63,386,762
] U 21 0.6 81,403 9 1.8 201,044,552
THER 22 0.5 64,608 22 0.6 61,113,363
T R 23 0.4 49,648 23 0.5 52,589,168
FE AR R 24 0.4 45,990 24 0.4 48,360,564
B Iy ek 25 0.2 27,397 26 0.3 28,806,561
PRI 26 0.2 22,867 32 0.1 14,479,963
AR 27 0.2 22,396 30 0.1 16,506,985
HARIE 28 0.2 20,825 35 0.1 9,464,319
B I 29 0.1 18,368 25 0.4 40,428,262
P R 30 0.1 13,370 38 — 1,338,957
e 155 Ik 31 0.1 11,351 31 0.1 15,279,514
B &I 32 0.1 10,561 29 0.2 16,718,241
REA L 33 0.1 7,798 28 0.2 22,980,333
FA) 1| IR 34 0.1 7,693 27 0.3 28,500,147
Mgt . I 35 — 6,008 34 0.1 10,804,482
B LR 36 — 4,757 36 — 3,851,794
fa e I 37 — 1,855 37 — 3,157,660
RRR 38 — 490 39 — 675,291
AR 39 — 490 40 — 185,220
AR 40 — 75 41 — 81,216
Koy 41 — -31,639 33 0.1 13,554,827
& 3 100.0 13,026,829 100.0 11,019,067,001
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